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1)  111=37x3=0 (mod37)
THDHND,
1000 =111x 9 +1 =[1] (mod 37)

(2) 1000=1 (mod 37) ZF|H41uE
123456789
=123x1000” + 456 x 1000 + 789
=123x1% + 456 x1+ 789
=123 + 456 + 789
=1368 =1000 + 368
=1+ 368
=369
=-1

—[36] (mod 37)

> 111=0 (mod 37) ZFfH L T
123456789
= 123456789 — 111000000 = 12456789
=12456789 — 11100000 = 1356789
=1356789 — 1110000 = 246789
= 246789 — 222000 = 24789
= 24789 — 22200 = 2589

= 2589 — 2220 = [36] (mod 37)

LHTEDL, AT 1L TEIDEA LT
WHDEELFRILHEATHS.

(3) 10=-]1] (mod11)

4) L7ENn-T,
123456789
=1x10° +2x10” +3x10°
+---+8x10"+9
=1x(-1)% +2x(-1)" +3x(-1)°
+--+8x(-1)+9
=1-2+3-4+5-6+7-8+9

=[5] (mod 11)

BRE 3-2
(1)  3°=243=1(mod11)
DT, 3= Ly
3% =1 =1 (mod11)

IoT, 3% 11 CEH 574 c:;c.

2) 10" =(-1)" (mod11)
72T, modll T

7178979876 ? |1852588770249
—9-442-0+7-7+8-8
+5-245-8+1-[?]
+6-7+8-947-9+8-7+1-7
=-1-?]
(D&Y, 3=1(modll) /DT,
1=-1-[?|(mod 11)
s |2 l=-2=9mod 11)
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